Table S1: Comparison of multivariate predictor models. The best model is highlighted in bold.

	Model
	DF
	AIC
	R2
	AW

	Prod = (0 + (1(PD 
	149
	1752.78
	0.415
	3.54E-17

	Prod = (0 + (1(Nfix
	149
	1747.47
	0.436
	5.03E-16

	Prod = (0 + (1(PD + (2(Log(N) + (12(PD( Log(N)
	147
	1747.73
	0.449
	4.40E-16

	Prod = (0 + (1(PD + (2( Log(N) 
	148
	1750.44
	0.432
	1.14E-16

	Prod = (0 + (1(PD + (2(MDS + (12(PD(MDS
	147
	1751.71
	0.435
	6.01E-17

	Prod = (0 + (1(PD + (2(MDS
	148
	1750.97
	0.430
	8.72E-17

	Prod = (0 + (1(PD + (2( Log(N) + (3(MDS + (12(PD( Log(N) + (13(PD( MDS + (23( Log(N)(MDS 
	144
	1750.37
	0.461
	1.18E-16

	Prod = (0 + (1(PD + (2( Log(N) + (3(MDS
	147
	1751.85
	0.434
	5.62E-17

	Prod = (0 + (1(PD + (2(FD + (12(PD(FD
	147
	1746.93
	0.452
	6.57E-16

	Prod = (0 + (1(PD + (2(FD
	148
	1744.93
	0.452
	1.78E-15

	Prod = (0 + (1(PD + (2( Log(N) + (3(FD + (12(PD( Log(N) + (13(PD( FD + (23( Log(N)(FD
	144
	1746.77
	0.474
	7.11E-16

	Prod = (0 + (1(PD + (2( Log(N) + (3(FD
	147
	1746.58
	0.454
	7.84E-16

	Prod = (0 + (1(Nfix + (2( Log(N) + (12(Nfix( Log(N)
	147
	1728.51
	0.515
	6.58E-12

	Prod = (0 + (1(Nfix + (2( Log(N) 
	148
	1726.56
	0.515
	1.74E-11

	Prod = (0 + (1(Nfix + (2(MDS + (12(Nfix(MDS
	147
	1729.52
	0.512
	3.96E-12

	Prod = (0 + (1(Nfix + (2(MDS 
	148
	1727.53
	0.512
	1.07E-11

	Prod = (0 + (1(PD + (2( Log(N) + (3(Nfix + (12(PD( Log(N) + (13(PD( Nfix + (23( Log(N)(Nfix
	144
	1726.67
	0.540
	1.65E-11

	Prod = (0 + (1(PD + (2( Log(N) + (3(Nfix
	147
	1722.73
	0.533
	1.18E-10

	Prod = (0 + (1(PD + (2(Nfix + (12(PD(Nfix
	147
	1724.18
	0.529
	5.71E-11

	Prod = (0 + (1(PD + (2( Log(N) + (3(Nfix
	148
	1722.19
	0.529
	1.55E-10

	Prod = (0 + (1(PD + (2(SW2 + (3(Nfix + (12(PD(SW2 + (13(PD( Nfix + (23(SW2(Nfix
	144
	1677.02
	0.669
	9.99E-01

	Prod = (0 + (1(PD + (2(SW + (3(Nfix
	147
	1690.79
	0.622
	1.02E-03

	Prod = (0 + (1(PD + (2(H + (3(Nfix + (12(PD(H + (13(PD( Nfix + (23(H(Nfix
	144
	1724.39
	0.547
	5.16E-11

	Prod = (0 + (1(PD + (2(H + (3(Nfix
	147
	1723.30
	0.532
	8.88E-11

	Prod = (0 + (1(PD + (2(H + (3(Nfix + (4(SW2 + (12(PD(H + (13(PD( Nfix + (14(PD(SW2 + (23(H(Nfix + (24(H(SW2 + (34(Nfix(SW2
	140
	1723.30
	0.690
	8.88E-11

	Prod = (0 + (1(PD + (2(H + (3(Nfix + (3(SW
	146
	1692.74
	0.622
	3.85E-04
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